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— 777X Naw® SINN2 1IN N’?
He did not create it for a waste; he formed it to be settled

Overview

The mwn taught regarding an 11> 72y who is half free and half slave, that he
cannot marry neither a nwid andoWw, nor a PXW° n2, and he cannot remain
unmarried, since the world was created for "2 7" as it is written' 7812 3710 X9
77X nawY. Our v discusses why the X7na cites the P109 of Naw and not the 0o
of 1271 179, which is written in the 7n.2

Moo responds to an anticipated difficulty:
= 13299 1997 NP VP NJT XD

The reason the w"2 did not cite the 2102 of 1291 192 (instead of naw)?, is -
- 4‘;1’7 19292 MN NY 1299 999 NN OIVN N1 Y9 nav ﬂ”‘Pb 9195 7N INT DIVYN

Because for if the 72v would have been able to fulfill somewhat the mx» of naw,
the 0°2on would not have forced the master to free the 72v¥ on account that he

should also fulfill the /3% of 9" -
- 513Y95975 1159 13999 XN

But here we do force him to free the 72y, and that is because he cannot even fulfill
the Mxn of N2w as we have explained —

mooin offers an alternate reason why he mentions n2w and not 7"®:
- “NYP 1139 MINNT RNIMNT DIUN NP NN VP)I M) ON

Or you may also say; he mentions this 102 of naw because it proves that nav is

a great /X -
- TN RYIDY 1NN T5Y 1IN 990 999 533 1Y 31999 (x,13 91 NTINT XINA P93 19

And similarly the X723 cites this P09 of naw in the last pap of m%%% noon

Umoan oy,

28,0 (M) ,19,R MWK

? See ‘Overview’.

* The 37 of "1 (as opposed to Naw) is (more) on the individual, so therefore since the 72y *X17 is an 01X, we cannot
force his master to free him; however N2 seems to be more of a global mxn (including the 7"2) so they need to see
that more children are born, therefore they force the master to free him.

5 See previous Xw? 11"7 '01n [TIE footnote # 3].

% The 109 says that world was not created for Y7, but rather for naw, which makes it a great m¥» since it is the
purpose of creation. Therefore it is understood why, on account of this 71%n, we (a) force his master to free him, and
(b) make his master transgress the Mo°X of 1712yn 072 079, since it is a 727 m¥n. However regarding 1" we have
no way of knowing that it is a 727 mMxn.

7 The sale of the n"o will fund him so he will be able to either study 77N or marry.
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regarding the discussion whether one may sell a n''® in order to study 7710 or to
marry a wife -

= AN YN KD 93 YN D10 NN TNIDN D11 919 9IRT NN TINON SINY 9INPT
Where 71117 "1 rules in the name of »"9 that n''n is different since the master said
that n''n is great, etc. for it brings to action, so we may sell a n"o to learn 77N

and also to marry a woman, for it is written 792 %70 K. We see that in order to
express the greatness of the m¥n of having children, the X3 chooses the P109 of 71872 1707 XY as
opposed to 1", for 11IN? X7 shows that it is a great M1 (a 727 7XN).

Al final explanation why the &7 mentions Naw instead of 7"19:
= MTaY 183 4N TOOVT DIYN N8 NAYD VPIT YIDN 15791 3393 PN 139249 291

And 2''2"m 3777 explains that the X3 here cites 773> nawb, because it is

applicable even to the n172y 7x -
— N 183 NON TPV KD 1399 199 VAN

However the mx» of 9''1p is applicable only to the N9 7X, but not to the m7ay 7%,
so therefore since the entire 72¥ is no 7M¥» on 1" we would not force the master; however since
the entire 72¥ is MM¥” on NIW (an he cannot do it in his present state), therefore we force the

master -
- (1 maom) 1O TINAT RV PIDTY (0 navny 197997 3I5WINPA NYP YIWN 19

And this is also somewhat indicated in the %2 7170 of our P22 and in the

first pao of p''m noon -
- 199193 DU PRYN PN ) 10 N1

Where the 25217 states, ‘the mwn there taught, one may not marry women on

727 9 -
= 115291 1799 102 2391 N PN Y29 OV XAN 92 PYNY

N''2w stated in the name of >''1 the reason for this rule is because it prevents 2'"1 -
- D791 119) NNNY 1T NINY T9INN 19 NWIDN PNN? NOW YITD

This means that one should not wait until »''777 to get married because it is a

time of rejoicing and one is free from obligations; there is no work to be done, rather

he should marry as soon as possible so he can commence with 7"19 -
- NN 13 MIPNYI PAY DN T¥INI NYIY 1) Ta¥N SON 29 1P PIva

A query was posed before X''%; ‘can an 72y marry on »''mn’, he answered
them, ‘we know it from this ruling -

$anp"n.

? The *»9217 began by informing us that one should not wait for 2"/ to get married because of 1"2 212, Then it
cites the query regarding an 72v; proving that an 72V is different from a ‘regular’ P%7w> (who is commanded on
7"19), but the 72¥ is not commanded, hence the query. This proves this which no1n stated that 7" is only n17°1 7x3,
but not 72y 7¥2. See ‘Thinking it over’.
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= 11529 71’999 NHX OHIYN N2 XY NHNY HVI)

Shall he cease from marrying, but the whole world was created only for 2''1p’ -
= 49993 XYY 1Y 910X 1929 1999 DY ANKN XINY D3 13NI% 2249 DWA NAN 93 PIYNIY 99N)

And X''2w said in the name of *''% whoever is commanded on ='''» is forbidden

to marry on »'';717 -
- 2y M9 DAY NIYY DIYM 739 1599 5Y ANEN NYAY Y5 Cwres

The meaning is, ‘whoever is commanded for 2'"1® because of ;773> nawb, for

instance an 72Y (is forbidden to marry on »"mn) -
- Znay na 799w 93 ANawa N1 %Y Hannim XY INT 139 199N YaN

However an 72V is certainly not liable for transgressing 2''12, so according to

this, the 21’17 of naw applies to a EW as well (even though 7™"1 does not apply to her) -
= 9PN XN3N N2 NNIT RN NN 1290 NA NN NNV N8N 13295 XYY XM

And so the reason why we do not force the master of a 99117 na 758m AW XN

to free her, unless they are promiscuous with her -
10PN XY 1INNYNY INKY 0 NNY 1291 199X RTD RYT 1199 DIVN 135

That is because, since she is not commanded for 2''12 we are concerned that
even after she is freed she will not be 2%P% (even) the mx» of naw.

Summary
The mwn cites NAw (instead of 71"®) because, a) N2V is the deciding factor to force

the master to free him, b) naw 1s a 727 MXn, and ¢) there is a 21’17 of N2W on the 72¥
(7mowY), but no 21°17 of 1"B.

Thinking it over
mooIn proves from the *n?w 7 that an 72¥ is not 7M¥» on 1"®, since we query what

is the status of an 72¥ after we already determined that 7"19 precludes one from

' The w0’ here is crucial, for the *»5w17” just stated (in the previous line) as a response to the query about the 72y
that 7912 K2 12 MOR 7"D DY angn X 95, (seemingly) indicating that an 72y is A% on "9, contradicting this
which mpoIn is trying to prove from the "n22w17 (see footnote # 8), therefore the w1d clarifies it for us that by 1"
here the *1%w17° means naw. The proof for this w170 is the fact that the mawn cited the 109 of Naw and not of 1™®.

" An 72w (and the m72y 7% of a 72¥ °XM) is not commanded on 1"19, since 0°1¥1d 072y are 0°2"1M only in those N¥n
which woman are obligated and since women are not 7M%» on 1", neither are 3"y.

"2 Now that we saying that an 2"y even though he is 715 from 1"19, nevertheless he is nawa 27n, the same will apply
by a n"1v1d now that even though she is 7715 from 7"19, she is N2w2a na™mn.

"> We are assuming here that woman are not ;ms» on 1"19. Therefore the 72y who is 7"192 2”7 it is assumed that he
will observe it, however the fnow since she is not N2> in 7", she may be lax in observing naw. [See footnote # 4
that n2w is more a global 711¥n than a 71¥n on the individual, therefore she may not take it that seriously, ¥"x1.]
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marrying n"mna.'* However this itself may be the query whether an 72y is 2
2"192 or not; what is the plroof.15

4 See footnote #9..
15 See mwn nvm
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